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S56 | S61 H3 H8 H13 | H18 | H19 | H20 | H21 | H22 | H23 | H24 | H25 | H26 | H27 | H28 | H29 | H30 | H31
FE—/INEK|[1000 | 716 | 496 | 414 | 485| 553 | 53.1 | 53.6 | 52.7| 504 | 487 | 476 | 439 | 424 | 399 | 396 383 | 366 36.3
FEZ/NFH|[100.0 | 832 | 59.1 | 51.3 | 558( 682 | 724 | 763 | 780 779 748 737| 70.1]| 684 | 63.7| 641 | 657 | 645| 63.3
FE=/EK|[1000 | 732 | 528 | 408 | 358|( 320| 288 293 | 27.7| 263 | 231 | 218 218 195 200| 215 200| 222 19.7
B#/hF#|(100.0 [ 795 71.1| 63.1| 728( 659 | 663 | 646 | 644 | 630| 604 586 | 56.7| 56.6 | 544 | 533 50.8 | 51.3| 52.1
Jeep/nE#%([ 1000 | 838 59.8| 50.1 | 51.2| 56.4| 56.3| 56.3| 56.3 | 56.2| 553 | 549 | 509 | 47.6 | 460 | 445 | 428 | 440| 441
R/ F#[100.0 [ 65.0| 50.7 | 608 | 67.6 | 648 | 643 | 609 | 584 | 559 | 52.0( 51.2| 481 | 473 | 485 | 484 | 484 479 | 480
RRE/I ¥4 100.0 | 820 68.7 751 | 8201109 |113.2 |119.1 [122.6 (121.5|1245|123.4|1123.4|122.6 | 1220 (1225 (118.0 | 120.1 | 120.7
AR/PF#[100.0 [ 56.0 | 405 | 774 | 750 69.0( 726 | 786 | 750 | 81.0| 83.3| 643 536 | 476 | 41.7| 26.2| 190 143 7.1
L2z 1000 | 798 774 | 705 | 582 647 719| 740 777 784 781 | 829 | 781 | 76.7| 740 736 733| 70.5| 70.9
Rm/INF#([100.0 | 848 | 66.5| 64.1| 80.3( 752 | 728 | 67.8| 655 | 622 | 572 569 521 | 508 | 514 | 488 | 473 451 | 452
RIL/NE#%[[1000 | 983 | 754 | 61.1 | 55.2| 555 | 558 | 546 | 541 | 534 | 507 474 449 429 | 39.7| 383 | 375| 387 | 386
G/ #1000 [ 69.2 | 600 (| 471 | 322 228 216 | 216 | 203 | 178 139 | 143 | 150 13.1 | 124 132 142 ] 135 123
R/NFER)| 1000 | 81.9 | 741 | 81.1 | 9191205 |126.2 |126.5 (125.7 |122.3 [115.0 | 111.8 [105.1 | 1040 | 99.2| 97.2| 974 915| 91.2
& &t | 1000| 80.1| 63.1| 582 | 615| 66.0| 666 | 666 | 66.3| 648 | 62.1 | 60.9| 57.9| 56.3| 544 | 53.7| 52.7| 52.1| 51.8
= 2 & B o & B

S66 | S61 H3 H8 H13 | H18 | H19 | H20 | H21 | H22 | H23 | H24 | H25 | H26 | H27 | H28 | H29 | H30 | H31
£ #1000 [ 111.8 | 80.7 | 59.8 | 54.7| 55.1 | 583 | 56.8| 595 | 585 | 606 | 59.7| 612 59.9| 609 | 57.0( 53.1| 484 | 456
#Fithp2242]( 100.0 [ 1000 | 73.6 | 59.3 | 55.1 | 53.1| 536 | 55.1| 566 | 58.1| 61.0| 61.4| 643 | 628 63.1 | 593 55.1 | 533 545
E=rp%#|(100.0 | 1088 | 71.5| 618 | 60.2| 67.7| 657 | 644 | 656 | 628 | 660 | 629 | 646 | 620 | 635| 60.7 | 580 | 552 51.9
BiE%H2#) 1000 (110.6 | 80.1 ( 742 | 770 720| 76.6| 845| 86.8| 929 | 93.8| 98.7| 95.8]100.0|104.6 |106.2 (104.41100.2 | 95.2
RESE#([100.0 | 1044 | 84.1 | 734 | 619 764 | 829 | 825| 764 | 729 | 741 | 724 | 694 624 | 61.7| 605| 605| 60.5| 54.0
& &t |1000|107.7| 773 | 632 | 595| 61.7| 636 | 640| 652 | 650 67.3| 66.8| 67.7| 66.2| 674 | 647 | 61.7| 586 | 559




